Tier A

two-steF

Directions: Use your solutions to navigate through the puzzie. SHOW ALL STEPSHH!
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Tier B

-~ fwo-steP eQuATioN MaZe!

Directions: Use your solutions to navigate through the puzzle. SHOW ALL STEPS!!!!

Stari x 9-2x =35 . N
4y + 10 = -26 “3'”0‘15 ?))( = 0=~
-4 15 -13
9 X\ -8 / 48 y _ 3
X, A x i 3 4. -5x - 10 = 10
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Tier C

Directions: Use your solutions to navigate through the puzzle. SHOW ALL STEPS!!!}

Startl X 10215 9-2x =35 2 i 17
4x + 10 = -26 3 3
-4 15 13
9 x -8 / 48 & 3
X 4.2 11329 3. 997 -5x - 10 = 10
7 2 4
14 8 4
-14 24 44 11 -4 -4 0
2% —17 = - 18 — 4x = -2
g-Li-16 12x =17 = -89 * 19-2 34
3 2
6 5 -5
72 -24 -6 % 4 \\ -6
28 -32x =92 E—x=12 13—§x=37
2 ENDI
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